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How are parabolas used in real life.

Kelly almost finished with the Parabola chapter in his math class. She is familiar with the general form of a parable and began to notice the use of parable around her. One thing you haven't understood yet is why satellite TV dishes are 3D parable. It's sure it's not a coincidence, but he doesn't know what it is about a parabolic form that is important.
You know? There is a very interesting property of Parabola. This is the fact that all parables have the same shape. Or, in the language of geometry, each two parables are similar to each other. This means that any parable can be resized in or out to produce another parable exactly the same shape. This can be surprising, because Parabola where \ (\
x”~ {2} \) has a coefficient of great appearance certainly very "statuer" of parable with a small coefficient when examined on the same domain, as shown in the domain, as shown in the domain, as shown in the same domain, as shown in the Graphs domain below. a. High and lean: b. Short and wide: but when one of the parables is properly scaled,
these parables are identical: a. High and lean - enlarged by 4x: b. Short and wide: this fact on the parables can be seen from the point of view of the algebra since all the parables are generated by a line and a point not on that line. This configuration of generations of objects, a line and a point, is always the same form. Any other line and point looks
exactly the same - simply zoom in or out until the line and point are of the same distance to each other. So also the forms that generate two of these configurations must have the same shape. From the analytical geometry point of view, there were two factors that could influence the shape of the parable. The first is the distance o o onoc led amrof al
non am aznatsid atseuq odnazneulfni ,atidnargni o attodir eresse 2Aup enigammi'l ,aznatsid allad etnemetnednepidni idniuq ,alacs isaislauq us inoizroporp essets el onnah inoc i aM .onoc led ecipa'l e oilgat id onaip li So this parameter does not really change the shape of the conical section that results. The other factor is the shape of the real cone.
This is its slope, defined from the corner of the apex, or equivalent by the relationship between the radius and the height at any point. It is a little more complicated. It is not at all obvious that the short cones, squats and high cones and skinny produced parable of the same shape. to. Tall and Skinny: b. Short and wide: according to what we found, any
parable produced by slicing any cone has caused an equation of this form: \ \y = a x~ {2} \) we want to demonstrate that if we generate two parables of the genre, which they have the same shape. So suppose to use two CONE buildings and come with these parables:\(\y =a_{1} x~{2} \)and\ (\y =a_{2} x~{2}\). We want to show that there is
some factor of scale, call it \ (\ f\), which narrows or enlarged\ \y =a_ {1} x~{2}\)in\(\y=a {2 } x~{2} ). To maintain an equal form, the scale factor must influence both \ (\ x-\) and \ (\ y- \ text {variables} \). So we have to find an \ (\ f\) such that\ \ (fy) =a_ {1} fx)~{2} \) is equivalent to\ \y = a_ {2} x~{2} \). The first equation can be
written \ (\y = \left (a_ {1} £\ right) x~{2} \), which is equivalent to the second equation when\ (\a_{1} f=a {2} \), orwhen\(\F =\FRACC {A_{2}} {a_ {1}} V). This\ (\ f\) always exists for non -negative numbers\ (\a_{1} \) and\ (\ a_ {2} \). So the parables are really the same shape. If \ (\ a ) is less than zero, then the parable can be
reflected vertically to produce a parable of the same shape and with a positive coefficient \ (\ a \). Diocle (& Let's directly 1180 BC) was a mathematician from ancient Greece, of which we know very little. However, we know enough from some documents that he has thought of an important parable application. It comes from what is sometimes called &
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reflect on the parallel mirror between them, making a radius focused onCassegra Telescopi: Satellite telescopes exploit the optical properties of the parables to collect most of the light from a distant star. The satellite dish below is parabolic in shape and reflects the light at the point in the center. First of all, you were asked why satellite TV dishes are
3D parables. Solution The satellite dish is a 3D parable so that all the signal that collects on a large area will be concentrated in the center of the parable, significantly increasing the reception. Explain why not all the ellipses are similar as the parables are. While enlargement or reduction does not work to make two ellipses identical, how can you
change the view of two ellipses that have different forms so that they look equal? Solution The eccentricity of the ellipses defines the form, so when eccentricity is different for two ellipses, the ellipses are not similar to each other. Seeing one of the ellipses at a corner, however, changes the perceived eccentricity of that ellipse, and the angle can be
chosen to match the eccentricity perceived to the eccentricity of the other ellipse, producing an image similar to the other ellipse. If nothing was used to deflect the light before entering a "burning eye", where the sun should be in relation to you and the place where you want to light a fire? Why is it a bond? Design a way to circumvent this bond.
Solution The fire-local must lie on the segment between you and the sun. This is a problem because to start a fire on the ground, you should wait until evening when the sun is low in the sky so you can aim the lens on the ground, unfortunately the sun is not so bright in the evening so you lose a significant amount of power. A lens or a mirror that
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laid, it is 32 feet wide and is higher than .4 feet in the center of the highway and then then sides. a) Find an equation if the parabola that models the highway surface (assume that the origin is at the center of the highway) b) How far from the center of the highway is the surface of the road .1 feet lower than in the middle? The internal distance of the
sketch of an arch is 8cm and the height of the arch is 9cm. Assuming the scale 1cm = 2m, work out a formula which calculates the actual height of the inside edge of this structure (y), in metres at any horizontal distance x measured from the origin point which is the floor at the center of the arch. A new bridge has been built for foot traffic cross a
river. The two towers on either end of the bridge are 50 feet high and 300 feet away from each other. The supporting cables (2) are connected at the top of the towers and hang in a curve that forms the shape of a parabola. There are vertical cables that connect the walkway to the supporting cables. These cables connect every 15 feet from the
walkway up to the supporting cables. At the center of the bridge, the parabola is 5 feet above the walkway. Specialty Cable Company back east sells cable for $52.75 per 10 feet with a shipping charge of $300.00 for the entire order. Cables R US, on the West Coast sells cable for $432.90 per 100 feet with a shipping charge of $350.00 for the entire
order. Cable had to be purchased in either 10-foot lengths from SCC or in 100-foot lengths from CRUS. Once purchased, the cables can be cut or welded together. Write an equation for the parabola that represents each of the support cables. Determine the number of vertical cables needed. Determine the length of each of the vertical cables. How
much does it cost to purchase the needed materials from each company? Look at the image. It shows the parabolic cross section of a satellite dish antenna. The equation for the parabola is \(\ x=0.01 y™~{2}\) What is the focus of the parabola as shown in the image? A radio signal comes in at y otnup nu ad itnatsidiuge onos ehc itnup id emeisni'l "A
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11.03.2022 - If you invest $2000 at a rate of 8% per year, how many years will it take to earn at least $1000 in interest? A. 9 years B. 5.5 years C. 6 years D. 1 year E. 3.75 years F. 6.25 years 2. -3x ... there is part 2 ybe later Quiz - Solving Systems of Equations by Graphing Question 1 [...] A basketball free throw (Figure 3.6) is a good example of ideal
projectile motion, as is the flight of a bullet or the trajectory of a car that becomes airborne. Ideal projectile motion neglects air resistance and wind speed, spin of the projectile, and other effects influencing the ...
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